Bunupiojyemedoing uap 9 'sqy 9/ § gewsb [oii] / Siaijjyemsapue] wi
202 Unr "6 WOoA [yemedoing Jop sassiugabig uabynbpus sep Bunieqineus

$20Z lyemedoin3

|0411 Z 8ployaqjyemsapue-]




Jsy9||yemsapue
Jeisugy g

/

‘[pJoysgjuemsapue aip Jn4

20 49 S) g Li07 97 We usbejyosabuy




o oy Sy =y

TUoOA T 6T:1T $202'90°2T MACH

0 0 0 0 91 61 88 S6 €11 96 134! 895 L S¢S 0 lyemyalig zus|] >1zag
0 0 0 0 90¢ 4237 LL9°T S8b'1 14TA 4 £TH'e 589°'9 °I8'LT  |9LE 881'8T |TTE£'6€ 2ua( zeg
0 (1] 0 (1] vE6 SIT'T 899’y |bY8'E [ZTB'OT |690°L |6ST'9T |[ITL v |IS9 T9E'St |TESB'TOT ac snjlyemjeuolfay awwns
0 0 0 0 (1) 24 ££€ oTT'T I1o'r ISsC £8S°T /S6°E 6801 |btT £g6°0T  |cz9'zz awwng aunay y1zag
0 0 0 0 o1 [} €S 0s 08 4 S8 1€ S 9s¢g 0 {yemjelig annay >Jizeq
0 0 0 0 vee 81¢ LS0°T 196 LT SES'T [44: ¥ 8€+'0T  |6€T LL8°0T  |Tee'ee a1nay >lizeg
0 0 0 0 92 443 EEP'T z80°1T 566°C £0b°C S£8°'S v6E+T  |60C £09'FT |bOS'EE swwing xJspue] i1zag
0 0 0 0 0¢ 12 S9 18 LL G8 991 STS 9 12s 0 UemjaLig >dapueT XJizeg
0 0 0 0 1444 1443 89¢'T 100°'T 816'C 81£°C 60.'S 6/8'€1  |€0C 780'+T  |b0S'EE ddspue ylizeg
0 0 0 0 osL 0tS szr'e ISZ'T 9/2°s 6£0°€ £ZE°9 8zs'6T  |862 9zg'6T |90/°St BWWNg IsWJ Xiizag
0 0 0 0 8T 91 10T 1491 PET 9z1 134 7s9 13 SS9 0 fyemjaug IsWI Xlizag
0 0 0 0 (434 ves b2o'e LEI'T TS €56°¢ $81°9 9/8'8T |S6¢ TLT'6T  [90L°St Isw I1zeg
0 (1] 0 0 66T'T €4LS'T 9ZL'S |9sP'S [SSO'ST |€ST'6 |T6V'8T |bSL'9S |Z¥9 96€°LS |898'TT1I ¢ sienjjyemjeuoibay awwng
0 0 0 0 628 066 SIS'E 00s°€ 158°6 $80°9 299°01 |2ev'se  |v6E 9z8'se  |S6Z°4L awwng uRIsiny 4zag
0 0 0 0 18 S€ €02 v61 002 68T 9/T 8PT'T 1T 6ST'T 0 uemjalig utLisynyl a1zag
0 0 0 0 8LL SS6 ziee 90€'€ 159°6 968°'S 98€'0T |¥8T'vE |€8€ L99'VE  |S6T°LL utasyny dnzag
0 0 0 0 23 £8S 112°C 9S6°T +0Z'S 891°¢c 0£8°Z zze'1z  |sre 04S°1Z  |€45°St awwing [aynqziiy yizag
0 0 0 0 61 T 149" et 15T 91T 50¢ 154 € T4 0 lyemjauig (24nNazil dizeg
0 0 0 0 1S€ 6SS £60'C vE8'T £50°'S 7s0°€ S279'L 145°0C  [sve 918'0C |€48°SY [2Ynqgziy 3azeg
(1] 0 0 0 vLE'T 1€9°C ETE'TT |TES'OT |[9S8'TT |TLT' LT |¥66°9C |TL6'E6 |VE6 906'¥6 |EPP S6T g/ s1anjlyemjeuolbay awwng
0 0 0 0 £59 099 859°C §52°C I64°£ z28¢’t 89c°8 £9+92  |942 £v£°9Z |90S°T9 SWIING Zemyds Xi1zag
0 0 0 0 L2 8¢ 0zT €21 g91 GET TLT 69, 8 LLL 0 [UemyaLig zemyods Jizeg
0 0 0 0 979 z€9 8€5°C TET'T 9zeL YTV L61°8 869'SC |89¢ 996'SZ  |905°T9 Zemyas >Ji1zeg
0 0 0 0 12T 146°T 559°8 242°8 §9c°ST  |068°CZT |929'8T |S0S5°49 |859 £91°89 |LE6°EET BWWNS pueT-2niqsuuy yuzag
0 0 0 0 v6 8L 69t LbS z6€ ¥0S 195 S9°C 0z 599°'C 0 IUemjaug puel-3dniqsuu] 3lizeg
0 0 0 0 L29'1 £68'1 9818 0cLL €46'YT |98€°CT |S90°8T |098't9 |8€9 864'S9  |LE6°EET pUET-)3N.gsuu] izag
0 1] (1] 0 698°'T |Zv6 989'S |S8T'8 [8Z9/ S68'6 |[/£8'c |Z80'ZY |16 €LE°CZV |SPS 18 VL sidnjjyemjeuolbay awwing
0 0 0 0 698°T b6 989°G S8T'8 829« S68°6 £48°L z80°zF |16C €820 |SHS'I8 UWIWNS IPBIS-XINJGSUU] X4Zag
0 0 0 0 £6 €€ LET 98t €zt 0/€ 861 0bS'1 8 8bS'T 0 [yemyalig I1peIS-OnIgsuu] 3J1zag
0 0 0 0 9LL'T 606 6vt'S 669°L S0S°L 6256 649°L Trsov €8¢ §Z8'0F |SbS'18 IpEIS-YINIqsuu] XJjzeg
odA VNG SO3aN aNNYSD Qd4 0ds dAQ Bbraino | -unbun | *Bebqv | ‘deqiuem

Iyemjalig pun bejjyem
JodiL pue [jo)ojosdudwwns

$z0z |yemedoang J103030aduswwns &u




T UOA Z

6T:TT $202'90'2% &

_o _o 0 _wmo.o me.m _wmﬁ.mN L6S'6Z |8TT'TI9 (800°9F |(8VE'9L |668°SST |T06'CT |008'SSZ |666'0FS uswWINSRUESIH

0 1] 1] r4 4 10S S9L'T |08S'T £98'y |61IS'T |978'9 |08E'8T |€8E €9£'8T |[TITE'6E 3£ sDjyemjeuolbay swwng

0 0 0 zzg 10§ S9/°T 08s°T £98't 6157 9289 08s'8T  |e8€ £9/°8T |TT€'68 SWWINS Zuar7 Xy1izag
Od) VNd SO3N aNNYD Od4 0ds dAQ 6uno | ynbun | 'babgy | ‘Jaqiyem

$20Z lyemedodng

j1o3030.dus g o



